#HEX—TK1 (A 4B

SHMA4ES5 AR
ALSATERKE (REWME) KEARERREE (ER)
FRKEFR 9:00
KERBRER EFRHFKE BKHF EK )
= X | [B | KB |A E| pH LAY BE | ZE |EY| & v | " &
B b2 3=k I O Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 £ 17.8 13.5] 172.0 1.78
2 = 15.7  12.7 68.5| 7.71
3 & 15.5 13.3 36.4 1.75
4 i 17.5] 13.4 18. 1 1.77
5 & 21.0 15.1 13.7 1.75
6 = 17.5] 15.0 11.8) 7.77
7 £ 21.1 15.9 11.0 7.80
8 i 22.5| 11.5 10.3| 7.83
9 £ 19.0 17.0 8.3 7. 86
10 = 17.5] 15.8 8.4/ 7.82 45.8] 60.9 121 5.1 0.43| <0.02
11 i 18.8 15.0 1.7 1.78
12 = 22.00 16.2 6.6 7.83
13 58] 19.0 15.8 9.5 7.83
14 [55] 20.0{ 16.1 15.1 7.85
15 £ 19.0 15.6] 250.0 71.74
16 [55] 16.6/ 15.1 51.9] 17.74
17 £ 18.0 15.0 18.8 71.79
18 i 18.8| 14.6 11.3] 7.73] 47.2] 63.0 131 4.8/ 0.53] <0.02
19 i 21.3 16.8 16.8 7.88
20 = 21.5)  17.2 7.6/ 1.74
21 £ 20.0 16. 4 9.5 7.88
22 = 20.0f 16.5 9.7| 7.80
23 i 22.4 17.3 10.0 7.89
24 = 22.00 18.2 7.7 1.89
25 £ 22.0 18.6 1.2 1.78
26 i 24.6| 19.1 6.5| 8.02
27 58] 19.2 17.2 6.0 7.92
28 i 23.0/ 16.9| 162.0/ 7.79
29 i 25.4 18.2 63.8 1.78
30 i 26.8/ 18.0 30.6| 7.78
31 £ 20.3 18.7 16.7 1.71
1y 20.2 | 16.2 35.2 | 17.81 46.5 | 62.0 126 5.0 | 0.48 | <0.02
1) 26.8 19.1 250.0 8.02 47.2 63.0 131 5.1 0.53 <0.02
=IE 15.5 | 12.7 6.0 7.71 45.8 | 60.9 121 4.8 | 0.43| <0.02
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°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 17.8 13.9 1.8 7.39

2 £ 15.7 14.4 1.3 7.31

3 i 15.5 13.6 1.9 7.59

4 & 17.5 14.1 1.8 7.62

5 i 21.0 14.4 2.00 7.42

6 £ 17.5 15.0 1.7  7.67

7 = 21.1 15.4 1.7 7.60

8 i 22.5 15.9 1.5 7.50

9 = 19.0 17.0 1.4/ 7.52

10 £ 17.5 16.0 1.4 7.57| 44.9| 62.3 114 5.1 0.04| <0.02

11 i 18.8 15.9 1.6 7.52

12 £ 22.0 15.5 1.5 7.56

13 [55] 19.0 15.9 1.6 7.59

14 [55] 20.0 16.4 2.0 7.47

15 = 19.0 16. 1 1.7 7.46

16 [55] 16.6 15.6 1.9 7.46

17 = 18.0 15.6 2.00 7.44

18 i 18.8 14.8 2.1 7.48| 40.5 62.6 120 4.7 0.04] <0.02

19 i 21.3 15.2 1.6 7.60

20 £ 21.5 16.0 1.4/ 7.36

21 = 20.0 16.7 1.6 7.52

22 £ 20.0 16.6 1.6 7.49

23 i 22.4 16.6 1.6 7.55

24 £ 22.0 17.7 1.7 17.61

25 = 22.0 18.1 1.5| 7.54

26 i 24.6 18.5 1.8 7.61

217 [55] 19.2 18.0 1.9 7.57

28 & 23.0 17.6 1.7 7.58

29 i 25.4 17.5 1.6 7.50

30 & 26.8 18.0 1.7 7.55

31 = 20.3 18.0 1.4/ 7.45
Ty 20.2 | 16.1 1.7 7.52| 42.7| 62.5 117 4.9 0.04 | <0.02
== 26.8 | 18.5 2.1 7.67 | 44.9| 62.6 120 5.1 0.04 | <0.02
=IE 15.5 | 13.6 1.3 | 7.31 40.5 | 62.3 114 4.7 0.04 | <0.02




